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1 300(g) 2mm ( 0%) 80(g)
2mm ( 5%) 100(g) 75(u my) 35(%) 5(u m)
15(%)
276 (%) 47.0 (%)
145 (% 109 (%
_ 145 (%) _ 109 (%) 0= 5
2. 200(kN/m?) (UU)
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3 (CD) (Fig2 )
(1) Fig.2a) 150.0(cm®) 20.0(cm?)
8.0(cm*) 1380  (cm?)
) Fig.2b) 12.0(cm?)
3
142.0 (cm’) 20=10x 2
4. p= 80 (kN/m?) H = 1.95(cm) p = 160 (kN/m?)
H =1.90(cm) p= 80(kN/m?) 1.25
p= 160(kN/m?) 1.19 C.= 020
Ho =2.00(cm) D =6(cm) ms=65.0(g) 100102
=030 20=2x 6+8
5. 3 25 ( + ) m, = 5800(g)
w= 15.0(%) p = 180 (g/em®) pg=_157 (g/em®)
e= 0.688 S= 578 (%) m, = 4000(g) 1000(cm®)
20=4x 5
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